

Sales Tax Exemption

Texas A&M AgriLife Research is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of Texas A&M AgriLife Research.

The laws of the State of Texas shall govern this Purchase Order.

Purchase Order					
Purchase Order Date	PO/Reference No.	Revision No.			
Aug 24, 2018	AB0387706	0			

Contact instructions for questions regarding this Purchase Order:

If Buyer Contact information is listed below, please contact the Buyer.

If not, please contact the Customer.

Buyer Contact:

_				
Buyer	Buyer Email	Buyer Phone Number		
cac - Chamberlain, Chris	cchamberlain@tamu.edu	979.845.4786		
Customer Contact:				
Name:	Adriana Hernandez			
Email:	ADRIANA.HERNANDI	ADRIANA.HERNANDEZ@AG.TAMU.EDU		
Phone:	+1 915-859-9111			

Order acceptance instructions:

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Texas A&M AgriLife's Purchasing Department prior to shipping.

Su	pplier Information		Delivery Information			
Supplier Name	BORDER DEMOLITION &	Delivery Address				
	ENVIRONMENTAL INC	TAMUS Member:	06-Texas A&M AgriLife Research (06)			
Address	1004 DIESEL DRIVE SUITE A	Attn:	Miguel Romero			
	EL PASO, TX 79907 US	Agrilife Research & Extension Ctr				
Phone	+1 915-860-8855	Suite				
FOB / FREIGHT	Destination	1380 A&M Circle				
Pre-Pay & Add	No	El Paso, TX 79927				
Payment Terms	0, Net 30	United States				
Contract Number - Header	no value	Delivery Information				
Contract Number - Line	no value	Required Delivery Date				
Quote number	no rates	Ship Via	Best Carrier-Best Way			

Notes to Supplier

Shipping Instructions

Note to Supplier

PURCHASE ORDER IS FOR PAYMENT PURPOSES ONLY. THE ORDER IS BEING PLACED THROUGH TEXAS SMARTBUY, PO NO. 18182355.

PO Clauses

There are no clauses associated with this Purchase Order.

Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
790A Rio Vista Abatement, Items 1 - 4. Contractor's equipment and personal set-up at job site and move-out upon job completion. Cost includes construction and dismantling of decontamination facilities and showers.	1	JA	0.00 USD	1 JA	0.00 USD
Masking and Sealing with Single Layer Plastic Sheeting Only (6-mil)	3A	SF	0.74 USD	1,200 SF	888.00 USD
_	790A Rio Vista Abatement, Items 1 - 4. Contractor's equipment and personal set-up at job site and move-out upon job completion. Cost includes construction and dismantling of decontamination facilities and showers.	790A Rio Vista Abatement, Items 1 - 4. Contractor's equipment and personal set-up at job site and move-out upon job completion. Cost includes construction and dismantling of decontamination facilities and showers.	Product Description 790A Rio Vista Abatement, Items 1 - 4. Contractor's equipment and personal set-up at job site and move-out upon job completion. Cost includes construction and dismantling of decontamination facilities and showers.	Product Description 790A Rio Vista Abatement, Items 1 - 4. Contractor's equipment and personal set-up at job site and move-out upon job completion. Cost includes construction and dismantling of decontamination facilities and showers. Packaging 1 0.00 USD	Product Description Catalog No. Packaging Price Quantity 790A Rio Vista Abatement, Items 1 - 4. Contractor's equipment and personal set-up at job site and move-out upon job completion. Cost includes construction and dismantling of decontamination facilities and showers.

3 of 35	Remove Both ACM And Sheet Rock Ceiling/Wall	106C	SF	2.25 USD	1,800 SF	4,050.00 USD
4 of 35	Spray A "Lockdown" Mist on "Bared" Surfaces and on Containment	302	SF	0.30 USD	1,800 SF	540.00
	Enclosure Poly		_			USD
5 of 35	790B Rio Vista Abatement, Items 5 - 11. Contractor's equipment and	1	JA	456.85	1 JA	456.85
	personal set-up at job site and move-out upon job completion. Cost includes construction and dismantling of decontamination facilities and showers.			USD		USD
6 of 35	Masking and sealing with double layer plastic sheeting only (6 mil).	3B	SF	1.48 USD	300 SF	444.00
0 01 33	To be used for floors, windows, and Isolation Barriers.	Ju	31	1.40 03D	300 31	USD
7 of 35	Remove both ACM From Plaster Ceiling/Wall	106B	SF	4.56 USD	2,000 SF	9,120.00
	_					USD
8 of 35	Remove Both ACM And Sheet Rock Ceiling/Wall	106C	SF	2.25 USD	3,500 SF	7,875.00
						USD
9 of 35	Remove Single Layer of Vinyl Asbestos Tile and Mastic on a Concrete Floor	114A	SF	1.82 USD	400 SF	728.00 USD
		I				
10 of 35	Remove carpet on VAT/Mastic to be removed (RACM Pulled with Carpet Above Cutoff Limit)	116D2	SF	0.91 USD	1,100 SF	1,001.00 USD
11 of 35	Spray A "Lockdown" mist on "bared" surfaces and on containment	302	SF	0.30 USD	6,600 SF	1,980.00
	enclosure poly					USD
12 of 35	House #1 Demolition, Items 12 - 16. Contractor's equipment and	1	JA	456.85	1 JA	456.85
	personal set-up at job site and move-out upon job completion. Cost includes construction and dismantling of decontamination facilities and showers.			USD		USD
13 of 35	Remove Wall Partitions-Non ACM Wood Partitions	133A	SF	1.62 USD	1,200 SF	1,944.00 USD
14 of 35	Remove Built-up Roofing; 3Ply Construction Debris (non-ACM)	119A	SF	0.50 USD	1,466 SF	733.00
						USD
15 of 35	Demolition of Walls/Ceiling- Concrete	128D	SF	2.76 USD	1,986 SF	5,481.36
	_					USD
16 of 35	Demolition of Walls/Ceiling - Wood	128E	SF	5.39 USD	38 SF	204.82
						USD

17 of 35	790B House #2 Demolition, Items 17 - 19. Contractor's equipment and personal set-up at job site and move-out upon job completion. Cost includes construction and dismantling of decontamination	1	JA	456.85 USD	1 JA	456.85 USD
	facilities and showers.					
18 of 35	Remove Built-up Roofing; 3 Ply Construction Debris (Non-ACM)	119A	SF	0.50 USD	1,120 SF	560.00 USD
19 of 35	Demolition of Walls/Ceiling- Concrete	128D	SF	2.76 USD	2,540 SF	7,010.40 USD
20 of 35	Alamo Building Demolition, Items 20 - 21. Contractor's equipment and personal set-up at job site and move-out upon job completion. Cost includes construction and dismantling of decontamination facilities and showers.	1	JA	0.00 USD	1 JA	0.00 USD
21 of 35	Demolition of Walls/Ceiling- Concrete	128D	SF	2.76 USD	1,140 SF	3,146.40 USD
22 of 35	Feed Farm Demolition, Items 22 - 25. Contractor's equipment and personal set-up at job site and move-out upon job completion. Cost includes construction and dismantling of decontamination facilities and showers.	1	JA	0.00 USD	1 JA	0.00 USD
23 of 35	Remove Built-up Roofing; 3 Ply Construction Debris (Non-ACM)	119A	SF	0.50 USD	3,078 SF	1,539.00 USD
24 of 35	Demolition of Walls/Ceiling- On Wood/ Metal Frame	128A1	SF	1.55 USD	3,078 SF	4,770.90 USD
25 of 35	Demolition of Walls/Ceiling- Concrete	128D	SF	2.76 USD	3,074 SF	8,484.24 USD
26 of 35	Scale House Demolition, Items 26 - 29. Contractor's equipment and personal set-up at job site and move-out upon job completion. Cost includes construction and dismantling of decontamination facilities and showers.	1	JA	456.85 USD	1 JA	456.85 USD
27 of 35	Demolition of Walls/Ceiling - Masonry	128C	SF	6.80 USD	200 SF	1,360.00 USD
28 of 35	Demolition of Walls/Ceiling - Concrete	128D	SF	0.00 USD	0 SF	0.00 USD
29 of 35	Demolition of Walls/Ceiling - Wood	128E	SF	0.00 USD	0 SF	0.00 USD

30 of 35	Canopy Demolition, Items 30 - 32. Contractor's equipment and personal set-up at job site and move-out upon job completion. Cost includes construction and dismantling of decontamination facilities and showers.	1	JA	456.85 USD	1 JA	456.85 USD
31 of 35	Remove Wall Partitions - Non-ACM Metal Partitions	113C	SF	1.62 USD	100 SF	162.00
		I				USD
32 of 35	Demolition of Walls/Ceiling- Concrete	128D	SF	2.76 USD	1,890 SF	5,216.40 USD
		ı				
33 of 35	Water Storage Building Demolition, Items 33 - 34. Contractor's equipment and personal set-up at job site and move-out upon job completion. Cost includes construction and dismantling of decontamination facilities and showers.	1	JA	0.00 USD	1 JA	0.00 USD
		I		'		
34 of 35	Demolition of Walls/Ceiling - Concrete	128D	SF	2.76 USD	790 SF	2,180.40 USD
35 of 35	Incidental charges, Payment Bond.	NA	EA	1,792.58 USD	1 EA	1,792.58 USD
				Total	73,49	5.75 USD

Billing Information	Billing Address
To assure timely payment please e-mail invoices to the email provided in	Texas A&M AgriLife Research
the bill to address. If the invoice is sent via email, please do not send a	Disbursements
duplicate copy through the mail. Only if email is not an option then submit	***Do Not Mail Invoices***
nvoices to the billing address indicated in the "Billing Address" section. To nquire about electronic invoicing via cXML, CSV or PO flip through the	Email invoices to apinvoices@ag.tamu.edu
supplier portal, e-mail abvendorhelp@tamu.edu.	2147 TAMU
	College Station, TX 77843-2147
Invoice must include the PO/Reference number shown above.	United States